HEE - X3 No.3

L&@%ﬁ%bﬁéw.
(a)32= _L
¢

(b) 6° = |

2. ROFEZ LRIV,

(2) 102 x 107% = .
[0,

(b)273+26 = —m
) E12

(@2 x22+2%= |},

(@332&4+3*: 3

BB OEHE

3. ROFHEZE LRIV,
(a) a® x a® = as

‘i%@ﬁ%UW®%KL@éw.
() 55 — 1078

10 .
(b) 1000 = [0

103
(C) 10_2 == l S
1074 -




5 IROKZ a x 10" DI L7 S0,

1
(a)m: 5x10'

1
®) 757 = 2+10°

@) 5o = 15x1p’
6
@ T = 24107

2x107%)* 9
(®) Tx10exax 102~ 2*1D

(8 x 10_3)3 i 3
B 0 x (4% 10-3)° dxip

()

© (22) - gx16”

2 x 108 x 3 x 1078 {
(h) 6 x 10-3 - 1X ‘O

(2x1073)* x 5x 1073

O X103 x5 5105 — 2*(0—7

3 X (400 x 1073)3 N "
Ix300x 105 x @ x 109 ~ 2X1D




